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Quant Mega Quiz for SSC CGL (Solutions)

S1. Ans.(a)
Sol.
1 1 1
— — —_— ﬂ
x ¥y E=

xy+yvz+zx =0, x+y+z=11

w24yl + 2l =(x+y+z)?-2(xy +yz+2x)
=121-2=0=121

Weyi+ P - Buyz=(x+y+z) (EHyi+ -y —yz—xz)
=11 x (121 -0)

=1331

S2. Ans.(c)
Sol.

l('l +x%) (xF+1-x)

®ix—1
x-—1 x—1 ( )

1453 x— 1
= %
x2—1 (x*4+1—x)

] X (x—=1)

_1+x T (x A1)

H
x°—1 x*4+1-—x

(- +1-x) . TEST SERIES
Ft+1-x) Bilingual

$3. Ans.(a) SSC CGL 2019-20

Sol.

VFTT x VT PRIME

— — 62
x—vVx*—1 x+vx*—1 400+ TOTALTESTS

By the given condition in question x <0,

Validity : 12 Months

only option (a) satisfy the condition,
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S4. Ans.(b)

Sol.

x1-3x+1=0
1

x (x -3+ —] =0
X

1
x+—=3
x

2

(#+3)=(+3) -2

S5. Ans.(b)
Sol.

S6. Ans.(b)
Sol. In Right angle triangle
A

C2=b?+al

=242+ 102
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$7. Ans.(c)

= 04 = 0B = radius
LA =/B=60"

So, AAOB is equilateral triangle

So,R=7
$8. Ans.(a)
Sol.
r
12
Q - 30 R
P
tan30® = —Q
QR
1 12
V3 ox
x =123
S9. Ans.(d)
Sol.
A D
X
TEST SERIES
! ] Bilingual =7
B = 3 C :

AreanfMBE=%x><x=?2 SSC CGL TIER-I
(AB=BE)=x=12 2016-18

AB o Previous Year Questions
Ap=m (aiven 99 Full Length Mocks

2

=6

Validity : 12 Months

BC=12+6=18cm
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Area of trapezium ABCD
=X h X (AD + BC)
12

x L x(6+18)
(AB)

1

2
1

=-—x12 X 24
2

=144

$10. Ans.(a)
Sol.

Let DB = x and DE=y

in AABC and AOBP

AB _ OB

AC  OP(r)

40+x  20+x
36 20

X=5
MNow, in AABC and ADBE

AB DB 45_5

AC DE'36 vy

y=4

$11. Ans.(a)
Sol.
117.5 92 130

+11.55=xx—x—
100 100

K

x=550

$12. Ans.(b)
Sol.

-

12
12.5% of profit= Too*

Remaining 770 is divided in ratio = 5000 : 6000
=5:6

580 =110

5
So, profitto Anu = ﬁx?m*- 110 = 460

6
Profitto Bimla = T x770 =420
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$13. Ans.(b)

Sol.
xl
loss percent 100 (x=15)
S$14. Ans.(c)
Sol.

Let the output be x and percentage be y
Then,

x| 1+ y =2x
100

y = 100(~2-1)%

$15. Ans.(c)
Sol.
x+y =55b00 ..(x=Male, y=Female)
111x  120v
And, 00 +ﬁ=6&3{}
So,y = 2500
$16. Ans.(a)
Sol.
" , 25 30 270
Milk in mixture = 6x = +4x 150" 100
270x(6+4) __
Req. percentage= —— -~ = 27%

TEST SERIES
Bilingual

$17. Ans.(b)
Sol.

P42 2r2c0s8 SSCCPO 2019
= 2+ 2+ 22008 40-1) PRIME

- ‘{i *‘E*”;“‘"‘“‘*g‘z 35+ TOTAL TESTS
= "|,||_‘|" COs

= 4cos' 8 = 2 cosf Validity : 12 Months
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$18. Ans.(b)
Sol.

Xcosa+ysina=P ... (1)
xcospP+ysinp =P ...(ii)
Slope of (i)

COs oL
m, =—

sino
Slope of (ii)

—cos 3
:J_=

sinfp

tanb =

m, -m, Sino.Cosp-Cosa.5inf

l1+mm, Coso.Cosp+Sino.Sinf

Sin (o —p)
C os(a+ﬁ}
tan® = tan (a - p)

0= (a-P)

tanb =

$19. Ans.(a)
Sol.

ByC&D
Smfx+vj+5in{x v) at+b+a-b

a
x+vj x VJ a+b—a+b_£

tan x

a
tany b

$20. Ans.(a)
Sol.

asec+btan6+C=0
PsecB+qtanB+r=20
sec i tan g A 1

br—qc cp—ar aq-bp

secB= br-cq
aq—-bp
cp—ar

aq—bp

tan 8 =

Now,

sec’d —tan?6 =1
(br—cq ) _!f cp—ar |
\ag-cq) laq-bp)
(br - cq)* - (cp - ar)* = (aq - bp)?

=1
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$21. Ans.(d)

Sol.
51':1:1E=i —cosecE——ﬁ
T p T 4
b = CDSE—i
= i~H
1 1
—a+b4c= F+F—£=D
a*+b*+c*=3abc . [a+b+c=0]
1 1y )
-3
- —=f2
2
$22. Ans.(b)

Sol. Curved surface Area of 50 pillars
=50x2x3.14x0.25x4x0.5=157

$23. Ans.(a)

Sol.

Total surface area = 2nrh + ar? + arl
240m+ 64n+ 1367

4407 cm?

S24. Ans.(b)
Sol.
ZA=2./C

C
D

A
ZA+C=180°
So, /C=60°&~/A=120°
Z/B-/D= %4;1:400
ZB=110°

ZD=70°
Min. difference between two angle is = 10°

TEST SERIES
Bilingual

SSCCGL TIER12018

Previous Year Questions
21Full Length Mocks

Validity : 12 Months
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$25. Ans.(b)

Sol.
ED _DC
AE AC
A
Jcm Scom
C
B{ D & ocm >
ED_3
DC 5
BD=—— =g
(3+5)
’ 5
—4—2.2 CIm
$26. Ans.(b)
Sol.
7445) 75) _7 &
19-5 ¥
7 7
. H=a+Hb
50 11 11

on comparison,a=0,b=1

$27. Ans.(d)
Sol. x = 6, y = 4 or solving both eq.

$28. Ans.(b)

Sol.

b*=ac (G.p.)
a’—b*+c® a’—ac+c’

1 1 1 *-acsa?

2 2 2

a b a’.c?

, L[a —ac+c?
—a’.c

2 2
a —ac+c
~b#
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$29. Ans.(a)

Sol.pqr=1 12 Months Subscription
Put p=q=r= 1
so, we get answer 1 A

$30. Ans.(d) PREMIUMPLUS

Sol. -
A SSC CGL
a(x+y+z)=(x i 2 Z)X +y+z

Aa=X+y+z
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